H & 0l & AHS B Ml A

SN 23T
M SHII=HEXR
Rl Dl ADEHRA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IEt=n); 7,657,852 7,594,448 63,404
= 1,290,134
Jl 4,521
= 166,000
Ea 6,197,197
sSSII=HLR2 7,507,705 7,455,692 52,013
= 1,290, 134
) 4,521
= 166,000
= 6,047,050
Dp= AT |BEX R 219,704 830,737 611,033
DA =S 43,347 642,188 A\598,841
101 @124H| 19,675 19,248 427
U IIRINZZENSES 19,675 19,248 427
Ot =XE 2Y 2RY 19,675
—Jl2=s 78,9002 x1H =180 14,202
—T5rd 78,9003 x 1 *36& 2,841
— o x==g 78,9002 x1H 82 632
—4UEEE 250,0002!19+8 2,000
201 er2&y| 18,872 28,140 N9,268
01 AtR2t2|HI 13,672 17,940 N4,268
OS24 =
8,000 x4 =124 28 3,072
Olt=Xle g2FA AREE 7Y
300,000& 22 600
OARt D12 8& W M
10,000,000& x12] 10,000
02 S3=gHl 200 200 0
Olt=XE gRFA RuEgss
3802 *263F*23] 200
03 A2 I 5,000 10,000 25,000
O&=At MEH &H AIOILE
5,000,000& 12l 5,000
202 04t 4,800 4,800
01 =LHOHI 4,800 4,800
Olt==XIE HRFA
20,0002 x4 =124 S +5& 4,800
S==AtD DIBEEE 4,520 4,520 0
201 =3 2,520 2,520
01 At22t2l] 2,220 2,220
O At 2HARE 2F 2,220
—&42g 70,0002 15 +23] 2,100
—&==% M 60,000 23] 120
02 S3=gHl 300 300 0
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2A: JleEsu
M sl
R D dADEEX (SH &)
BB S9I(EH) - HRAR - BaS A HIDEZ
O8EE e 25,0002~ 12 300
203 HR= 2,000 2,000
03 A=A R 2,000 2,000
Otz A e = 400,000 52 2,000
A8 2 26,000 30,000 24,000
201 et 5,000 5,000 0
03 eAHZE 5,000 5,000 0
OAIZE3 L AMUEES 2F
5,000,000& 12 5,000
206 MH=HI 6,000 10,000 24,000
01 =8l 6,000 10,000 /4,000
OAtILE = A 2z 2 6,000
307 212+0| 15,000 15,000
02 2IZHBYAIHE A 15,000 15,000
OADETS &0t
15,000,000 * 10 2 15,000
A SEEr 145,837 151,729 N5,8%2
101 e124d| 130,537 127,729 2,808
M IRNZZ2NSE 130,537 127,729 2,808
O&==Atl SE2 130,537
—Jlzs 78,9003 x7H»169& 93,339
-5+ 78,9003 x7 & *34 18,779
— %X 78,9003 +7 H+8IH 2 4,419
—28= 250,000 7 & +8IH 2 14,000
206 MH=HI 10,800 12,000 1,200
01 MHZH| 10,800 12,000 1,200
Ont Wil oz
450,000 *35+8 & 10,800
301 LEtE 4,500 12,000 AT7,500
08 212+o1=201H] 4,500 12,000 AT7,500
O=¢2 Jl=aH] 1,500,000 3% 4,500
=D EE ,224,154 1,258,714 A\34,560
= 269,000
= 20,000
o 935, 154
AAIEE 29 290,387 272,316 18,071
101 21A4H| 120,845 141,950 N21,105
04 JIZtN2 2N S 2+ 120,845 141,950 A21,106
OALZA At 2 eIL) 120,845
— Akt ol &, )
78,9002 x 15 702 82,845
—AHR(EE, E =)
160,000 * 10 *20 32,000
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M =28
B =0 2K
Bl tDIsEs (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—28= 500,000 1290 & 6,000
201 er23| 26,522 29,766 N3,244
01 At22te|Hl 7,080 5,028 2,052
OAMINEY g2 28 4,760
—MEES 7Y 100,000 * 1204 & 1,200
—4E 2 HEMNH
190,000 x85 1,520
—d=J| Sx= 60,0003 * 12043 720
—SADI SRz 110,000&* 1204 & 1,320
OAIINEE TISH(HY=S, 2, 24,2
EAI) 200,000 x4H 15 800
OALIAIEE QIR ALY 2HAH|
4,0003 ~4E+20 320
O28ALIIHDIY KA(K2)
300,000 4 1,200
02 S3=gHl 19,442 24,738 Ab,2%6
OX=Al 22l & 13,480
- BF 1,580& *5002| &1 = 10CH 7,900
- RF 1,580 %1,0002I &4 *1CH 1,580
—sJH 2+ 125,000 »203 2,500
—AtEE s 300,000 52 1,500
OALIAIEE Ald2telt] 5,500
—AEgX2el & sz
1,500,000 #33] 4,500
—2F=AE S 500,000 x22| 1,000
Olt=3sted HEIEAAE 2EZ
3,850 1000 A+ 1201 2 462
206 M=Hl 105,600 100,600 5,000
01 MHZH| 105,600 100,600 5,000
23 ditx 2= 12,000
— 858 &+ 2,000&*1,000= 2,000
—goiEs N=ESAM
40,0003 *x105+52] 2,000
—o=H, X= S 100,0002 10523 2,000
—n=g s 300,000& x20& 6,000
OAtNIEE 2822l MY 62,400
—SIIH A2 257
500,000 +9CH 4,500
—ZASESH 2 HIS(FLH) S
500,000& x122]*7ha 42,000
— g+ 200,000& x4Z 800
A= 100,000& *302 3,000
—goisua EdgLXR
800,000 *50H A 4,000
—AIHE REIRY 9,000 900X 8,100
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A JI=ES
M sHII=HEXR

Bl tDIsEs (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAHHE ElHI7 160,000& 0= 14,400
RZS EF 7 15,0002 x35 %100 4,500
OJIEt 2E8A2S 150,000& %105 1,500
OMIAIBE HeEST Fe( &Eet §)
200,000 4 800
OJNI& Tl (Mel, L4, Hal) ol
200,0003 #2504 5,000
OAR HIOHETHEH &SXE o MHZHI 5,000
401 Al HIZ R 0HbI 35,000 0 35,000
01 AlZ8| 35,000 0 35,000
OARRt HIDHETHEY &S 2 &4 35,000
405 AHAHE S 2,420 0 2,420
01 AL =S F=H 2,420 0 2,420
OAtNIEE 88 sI1H Y 2,420
—=x)| &8 YA 2,420,000 *1H 2,420
A AOIHE 22 34,151 33,610 541
101 21A4H| 3,551 4,860 21,309
04 JIZtN2Z2 XS+ 3,551 4,860 1,309
OAOIHE —&tHME 3,551
—AlOIHE ==X 2%
78,9003 15 +3& 3,551
201 er23| 21,000 20,000 1,000
01 At2teltl 4,200 3,200 1,000
OAOIHE =gl 4,200
—0I82 M= 800&+3,000& 2,400
—&==% & 80,000& * 10K 800
—AOIHHE HIZSA M
2003 #5,000& 1,000
2 s5=34l 16,800 16,800 0
OALIAIEE SHIOIX 28 16,800
—EHO0IX |X2Zel HI8(|X2=+, 400l
E 3s) 1,400,000 129 & 16,800
206 M=l 9,600 8,750 850
01 M= H| 9,600 8,750 850
O&==ALdt AFOIHE AtdtetA 2
3,000 *3,2007HK 9,600
N SM=Ae D ASSIAISG (HEALY) 40,000 0 40,000
= 20,000
Ea 20,000
402 2IZtA=01d 40,000 0 40,000
=S 20,000
s 20,000
02 BIENEASEZ(0IETHR) 40,000 0 40,000
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2A: j|§_n_g:'J_l|'
X-I;_(H: leth”’IloJ
e ﬂk#&)l%ﬁa (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OXNGEM=H = ASSAY
40,000,000 100 &~ 40,000
& 20,000
i 20,000
=otzte| dolls oE A 94,000 47,000 47,000
= 47,000
= 47,000
101 @124t 47,764 23,290 24,474
= 23,882
= 23,882
M IIHZ2E2NSEs 47,764 23,290 24,474
OUZEZHE 2% JI2tHNZ2E X 47,764
A= 78,9002 x2Z 210 33,138
= 16,569
i 16,569
-5 78,9003 x2H 51 8,048
= 4,024
= 4,024
— X< 78,0032 +10 1,578
= 789
= 789
—S&8s 250,000 x2H 1001 2 5,000
= 2,500
i 2,500
201 B2 AL| 40,036 22,710 17,326
= 20,018
= 20,018
01 A2 22| 35,000 19,000 16,000
OuzxIE 2
1,400,000 *2CH* 1000 & 28,000
2 14,000
2 14,000
OUIEYHE 2% B0t S
500,000& * 103 5,000
= 2,500
= 2,500
O H&E 3 2,000,000&*1& 2,000
= 1,000
i 1,000
02 33244l 2,500 3,710 21,210
Otz AZH| 150,000& =104 & 1,500
= 750
= 750
O XXt Xl 500,000 +2CH 1,000
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M =28
M SHII=HEXR
Selr b2 g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 500
s 500
03 A=Y 2,536 0 2,536
OZAt= 536,000 12 536
= 268
[Ea 268
OuTHHI= 2,000,000 *14] 2,000
= 1,000
[Ea 1,000
202 04l 1,000 1,000 0
= 500
= 500
01 =LHAHI 1,000 1,000 0
OouzZgNt & Xa
20,0002 +52] 1004 = 1,000
= 500
o 500
206 M=l 5,200 0 5,200
= 2,600
= 2,600
01 MHZHI 5,200 0 5,200
OUZL BNES 1,300,000 42 5,200
= 2,600
= 2,600
sl 4SAEE &4 30,616 120,788 AQ0,172
101 @1A4H| 21,146 20,788 358
04 JIZtNZ22 XS 2+ 21,146 20,788 358
OJIZtMZ2Z2sSe= 21,146
—2EUFY 78,9003 x2H 100! 16,780
-5+ 78,9003 x2& x22 3,472
—28= 236, 7003 =240 & 1,894
201 er2&y| 3,400 2,530 870
01 AtR2t2|HI 2,400 0 2,400
Osgllz &4BANEE 29 2,400
- 228 228 7Y
200,000 * 122 2,400
02 S5=2g4l 1,000 2,530 1,530
OAERNE+ 1,000,000 *14] 1,000
206 M=l 5,070 16,970 10,900
01 M=4l 5,070 15,970 10,900
OASAEE 28 7 5,070
—HlE & X=ESH S
500,000 42| 2,000
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M =28
M SHII=HEXR
Selr b2 g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e EIE e
30,0002 x20= Al 600
—El8l S 4,200 *350% 1,470
—JIet2g 228 S 200,000 +55 1,000
405 KHaHE SH 1,000 1,500 A500
01 Tt =S F = 1,000 1,500 A500
O=2g 2Z)|(HEE)
500,000 2K 1,000
U= =5 B2HE Jls2s MY 160,000 160,000
402 212t X201 & 160,000 160,000
01 QI X2 AL E R (KM THE) 160,000 160,000
OO0lhE At OHELE =8 Al
80,000, 000 *4hax50% 160,000
sg Dl NE(XNSGSeE AdsieE 28X £ 200,000 200,000 0
a8 Nd)
= 100,000
s 100,000
402 QI2F X201 & 200,000 200,000 0
= 100,000
= 100,000
02 QI A2 AL E R (01X THE) 200,000 200,000 0
OXNESate Mdsdts =28 4 Al
= 200,000,000 *17H 2=*100f% 200,000
= 100,000
o 100,000
Olal|& TS W& ToHo Dl =Hat Al 100,000 100,000 0
402 2I2E X201 & 100,000 100,000 0
01 QI X2 AL E X (KHHITHE) 100,000 0 100,000
O0l&J14 (S ot TIoHIE Jl= =tat Al
= 40,000,000 *5IH 2= +50% 100,000
D= (HUF) QHE AL Al 10,000 0 10,000
402 212t X201 & 10,000 10,000
01 QI X2 AL E X (KEHTHE) 10,000 10,000
OZESZ AN 018 L+HollE LHAI
1,000,000 *20ha*50% 10,000
LSHESHERE 2E 160,000 0 160,000
= 80,000
Ea 80,000
101 @124H| 12,060 0 12,060
= 6,030
= 6,030
M ORINZZE2NSE S 12,060 0 12,060
OlstdsasSE 2el 12,060
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M =28
M =)l S WL
Bl tDIsEs (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—AZE(R, A 5) 2
78,9003 x 12 +110 8,679
= 4,340
Ea 4,339
— %X 78,9002 x1H+5 3%
= 197
o 198
-5+ 78,9003 18 »22 1,736
= 868
= 868
—28= 250,000 x1H+5 1,250
= 625
o 625
201 2= 4,440 0 4,440
= 2,220
Ea 2,220
01 AFR2telHl 4,440 0 4,440
Ostgd=4sE 29
2,000,000 %14 2,000
2 1,000
2 1,000
ONStH=A=T TE HE
120,000& %125 1,440
= 720
o 720
Onste=azE oHpE M=
500,000 25 1,000
= 500
o 500
206 MH=H| 2,000 0 2,000
= 1,000
s 1,000
01 M= HI 2,000 0 2,000
ONslgd=s4sE 29
2,000,000& *14] 2,000
= 1,000
s 1,000
401 AlEHIZ S 0HbI 141,500 0 141,500
= 70,750
Ea 70,750
01 AlZH| 141,500 0 141,500
OustdsasE Xy 141,500
—LCSHAS MSE ABT X4
120,000,000 * 14! 120,000
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SN =23
M SHII=HEXR
Bl tDIsEs (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 60,000
2 60,000
~DetYs AEE B4
21,500,000 * 14 21,500
= 10,750
o 10,750
JsFaE Xl K 105,000 0 105,000
= 42,000
Ea 63,000
307 glztol & 105,000 0 105,000
= 42,000
= 63,000
02 2B YA HE X 105,000 0 105,000
OgsRit= etERel K&
105,000,000 *14] 105,000
= 42,000
o 63,000
ASHE 2det A 1,296,248 1,376,574 A\80,326
= 185,000
= 45,000
[Ea 1,066,248
ASHS AGHS 4S5+ 32,455 26,733 5,722
101 212A4H| 19,675 17,400 2,275
04 JIZtN2 2N S 2+ 19,675 17,400 2,275
O&SAEgE 23 22RY 19,675
—JlEs 78,9002 x1H %180 14,202
-5+ 78,9003 x 18 362 2,841
—Re5d 78,9008 x1H 8 632
—4UEE= 250,000 82 2,000
201 et 3| 5,980 2,533 3,447
01 At2t2l] 1,980 1,820 160
ASAIEE HE & ZUE0M HH
10,0002 *35+50% 1,500
OLSH= S24 S
8,000 x3& 20 480
02 S3=gHl 4,000 713 3,287
OASHIRIE AEE RX2e 4,000
—2AAH] KXt 2,000,000 *14] 2,000
—2t=4H| |2 2,000,000& *14] 2,000
202 04l 3,600 2,400 1,200
01 =LHAHI 3,600 2,400 1,200
OxS%=E 88z N
20,0003 =3+ 122 x5 3,600
207 ARl 3,200 4,400 1,200
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SN JIEEID
M SHII=HEXR
ol ASHE 243 AR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& 32t 3,200 4,400 1,200
OAlgd- 28z 3,200
—ANEAR 2SMI(EH], HIZ S)
20,0002 *105+ 104 2,000
—MHAIE 22 (2=, XIF S)
30,0003 x8E+50H 1,200
HISHHIX tHeHE 29 100,414 384,321 283,907
101 @124H| 36,327 67,741 A31,414
M ORNZZE2NSES 36,327 67,741 A31,414
OHISYHIX BHdE 2 12| 36,327
—Jl2= 78,9002 x10H 35 27,615
—F5=4 78,9003 10 +8L 6,312
—282 800,000 3 2,400
201 Eer23 | 34,087 40,450 26,363
01 At2t2lt] 4,000 2,600 1,400
OHISYHIX B 2 4,000
—d28)| gxz 400,000 1CH 400
—HAE AHES 500,000 22 1,000
~AS8E 7 300,0002/+23] 600
—23 PBE 7Y
1,000,000 #23 2,000
02 S3=4ghl 30,087 37,850 NT,763
OHRLSHEHIX tHME 23 29,600
—DERI| FH R
1,580&%10,0002| & 15,800
—HHHIE] &O|orM 2He | CHEH
200,000 122 2,400
—AEHEdd RA2ACIUH
1,000,000 *32] 3,000
—HHEHE BA 2= 200,000+ 122 2,400
ANesi2el & Zhlsi2eldl
2,000,000& *32 6,000
O&sateg 2l 487
—2ENE K= 1,580 *50L*32] 237
— 2SI FA2 250,000 *1CH 250
206 M=l 30,000 74,130 AN44,130
01 M= H| 30,000 74,130 AN44,130
SUINA= 30,000
-5 115,000 »40m’ 4,600
-0 370&+20,000kg 7,400
—HI< 402 +30,000H 1,200
— DK 250 *30,000H 7,500
-5z 2,000&+1,150& 2,300
—JIEARHENE 1,000,000 +7& 7,000
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SN JIEEID
M =HIISHLXRA
ool ASAE 243 XY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A0EE usE 29 32,393 28,520 3.873
101 @124H| 19,675 17,400 2,275
M ORNZZE2NSE S 19,675 17,400 2,275
OANIE24 29 22Y 19,675
—JI2= 78,9002 x 12 *180 14,202
—F5=4 78,9003 18 »362 2,841
R 78,9003 »1H+8L 632
—40i2E8= 250,000 +8E 2,000
201 et23| 8,218 6,620 1,598
01 AtR2telHl 600 600 0
OANIEE WS AMRHIS 7Y 600
—ALRHIS 50,0002 *35*4H 600
02 35244l 7,618 6.020 1,598
O24 R & 22l 7,018
—ESCIZHI0INH SR+
745,000 <62 4,470
—ANERX & dHl+=H
500,000 42| 2,000
-5l 1,370 1002 | E1+4E 548
OADIEAIE QIEHY AIEE 600
—CQlHYUAMER 50,0002 123 600
206 M=l 4,500 4,500
01 M=4l 4,500 4,500
O==Z Mt HIE & ST 4,500
—HE &€ s 25,0002 x105+ 1004 2,500
—S2 2 JIEH
2,000&*10E5+5071 =22 2,000
ANEoteA ELEaE 2M X2 19,500 27,000 AT7,500
402 212t X+=01 & 19,500 27,000 7,500
01 QI X2 AL E R (K THE) 19,500 27,000 AT7,500
OAlEotRA ESASH & HEM X2
260, 0002 *150S+50f% 19,500
S8 SaES SEAIY 361,486 210,000 141,486
402 2I2E X201 & 361,486 210,000 141,486
01 SIRINESASE X (XHMITHR) 361,486 210,000 141,486
Ot LIS ASAIE
8,000,000 *37H 2=*50% 12,000
Osd S5 s4Ad
8,083,000 *84ha*50% 339,486
e BME DL J1=X&d 300,000 300,000
402 2I2F X201 & 300,000 300,000
01 QI XHE AL E R (KM TH) 300,000 300,000
Ozletd AME DL JI=Ag X
60,000,000 *10IH 2 +50% 300,000
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2A: JIEESW
HE: =)|SHLXIY
ol ASHE 243 AR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[ 45,000
z 45,000
02 BIZERHZ AL 2 E(OI R TH ) 90,000 0 90,000
OHssleA 12)| 22 JI&23
30,000, 000! x3ha100% 90,000
= 45,000
z 45,000
28 J|e2a 2,423,281 2,405,940 17,341
= 195,122
=3 51,000
z 2,177,159
HolE Seaellls 23 987,754 989,7% N2,042
201 Yer2 A | 9,114 10,9% A1,842
01 Al222l| 6,090 7,600 A1,510
OHHELMI = 4,650
—HAHELME OS] ALY
70,0002 402 *13] 630
—SAEI B2 LY
60,0002 %70k 420
—HoE B2 2123 MR
1,000,0002/%13] 1,000
— S OFE| 3 QIAKH 20021%13,0002 2,600
ozgsy =21 32
8,0002!+3% » 120§ F+5 1,440
2 ZZ2%| 3,024 3,356 N33
Ozgsy A2 22 3,024
-2 FFH
1,520 %502 B =2CH+ 120 2 1,824
—2EXY SX22H
600, 0002 #2CH 1,200
202 Oit| 3,600 3,840 2240
01 2LHoIH| 3,600 3,840 A240
OE<PIEE]
20,0008 x324 * 120} B 52 3,600
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